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Q.1 Last year, Ranjan’s monthly salary was T34.500 and this vear his monthly salary is 338.640. What is the percentage
increase in Ranjan’s monthly salary in this year over his monthly salary last year?
Ans g 1. 1204
<2 13%
X3 15%
x4 20%
Question ID : 7518976258
Option 1 ID : 75189725029
Option 2 ID : 75189725030
Option 3 ID : 75189725031
Option 4 ID : 75189725032
Status : Answered
Chosen Option : 1
Q.2 Cyclohexane contains C-C bonds and C-H bonds, so total covalent bonds.
Ans X1 4,12,16
2 6,12, 18
X3 6,10, 16
K4 4.8, 12
Question ID : 7518973549
Option 1 ID : 75189714196
Option 2 ID : 75189714195
Option 3 ID : 75189714193
Option 4 ID : 75189714194
Status : Answered
Chosen Option : 3
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Q.3 InDecember 2021, which state Government inaugurated the ‘Pink Force’ of Police to enhance safety. security of
women and children?

Chosen Option :

Ans X 1. Meghalaya
« 2. Goa
& 3. Kerala
X 4. Sikkim
Question ID : 7518976559
Option 1 ID : 75189726235
Option 2 ID : 75189726234
Option 3 ID : 75189726236
Option 4 ID : 75189726233
Status : Answered
Chosen Option : 4
Q4 o FEg HEEE OF F 25 cm H g0 W N T F FF F 30 cm F gl W IFG F aEARE #
3T alafdE BT @9 1 3F I sovea e e auE 2
Ans x 1. 5!6
2. —6/5
X 3. 6/5
X 4 -5/6
Question ID : 7518975412
Option 1 ID : 75189721647
Option 2 ID : 75189721646
Option 3 ID : 75189721645
Option 4 ID : 75189721648
Status : Answered
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W Crafaf@a § ¥ FiF o T 3R # samer 76 8
()ZnO + C — Zn + CO

(i)MnO, + 4HCI — MnCl, + 2H,0 + Cl,
(iii) 4Na + Oy— 2Na,0

(iv) AgNO; + NaCl — AgCl + NaNO;

LUCHES &1 i
& 2. v
X 3. i
Question ID : 7518973616
Option 1 ID : 75189714461
Option 2 ID : 75189714464
Option 3 ID : 75189714463
Option 4 ID : 75189714462
Status : Answered
Chosen Option : 3
Q6 T v R, YT Y@ F HAAA FI, AR TF T TF F I/ &
#91@4+7"53#91<54@35#2+614289<36#2%2@7
Tfe & & J@en HT T TF eIt F7 v O FEw ¥ 96 6T AT 8, S ey AR uH e &
g, o 51 TR T Fer 9o gEer & @ et e gkt Ged 8% B U e mEm
A & T v vk gem?
Ans x 1. 3
X2 2
X3 5
4 4
Question ID : 7518974812
Option 1 ID : 75189719246
Option 2 ID : 75189719248
Option 3 ID : 75189719247
Option 4 ID : 75189719245
Status : Answered
Chosen Option : 2
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%7 Ieede 279A T ¥ fhw gduifaw e @ d@afoa 82
Ane X T s

v 2 TG TF BET F IS
X 5. goTTEET
K4 oqg fFE=a M

Question ID : 7518973926
Option 1 ID : 75189715701
Option 2 ID : 75189715702
Option 3 ID : 75189715703
Option 4 ID : 75189715704
Status : Answered
Chosen Option : 4
Q.8 Three statements are given, followed by three conclusions numbered L 1T and 111, Assuming the statements to be rue.
even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s)
from the statements.
Statements:
All phones are tablets.
Mo tablet isa calculator,
All drives are calculators.
Conclusions:
1. Some drives are phones.
II. Some calculators are phones.
I No tahlet is a drive.
Ans X 1. Only conclusions I and II follow
X 2. Only conclusions I and III follow
+ 3. Only conclusion III follows
X 4. Only conclusion II follows
Question ID : 7518975176
Option 11D : 75189720703
Option 2 ID : 75189720701
Option 3 ID : 75189720704
Option 4 ID : 75189720702
Status : Answered
Chosen Option : 3
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Q.9 If '+ means =", '~ means ‘*°, ‘=" means ‘+', '+’ means ‘-, what will come in place of the question mark (?) in the
following equation?
16+4-8+3%2=7
Ans < 1. 23
X2 22
« 3 31
<4 14
Question ID : 7518974880
Option 1 ID : 75189719519
Option 2 ID : 75189719518
Option 3 ID : 75189719517
Option 4 ID : 75189719520
Status : Answered
Chosen Option : 3
Q10 o i 90T F oF 3R THAT F7 F G E g, 37 wRE g f F I & e 2
Ans 1 f/4
x2 f/2
X3 f
o 4 2f
Question ID : 7518975359
Option 1 ID : 75189721436
Option 2 ID : 75189721435
Option 3 ID : 75189721433
Option 4 ID : 75189721434
Status : Answered
Chosen Option : 2
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Ans

(i) Soft iron core
(i)  Coil
(iii) Magnets
Z 1. Only (ii)
X 2. Both (i) and (iii)
X 3. Only (i)
+ 4 Both (i) and (ii)

Q-1 The armature of an electric motor consists of which of the following part/parts?

Question ID
Option 1 ID

Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975530
75189722118
75189722120
75189722117
75189722119
Answered

2

Ans

X 1. Manipur — Meitei

« 2. Kerala — Kannada

X 3. Meghalaya — Khasi

X 4. Andhra Pradesh — Telugu

Q.12 Which of the following ‘state — major language’ pairs has been INCORRECTLY matched?

Question ID :
Option 11D :
Option 2 ID :
Option 3D :
Option 4 ID :
Status :

Chosen Option :

7518974190
75189716760
75189716758
75189716757
75189716759
Answered

2
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Q.13 ﬁgAﬁﬁng #qﬁm#m?ommm,ﬁmaﬁmgﬁmm
#R 70 m TeEr T 38 ™ 5o T1RRT 3 150 m Tor =WiT, W 3@ @ gear amv A
TOmWHﬁU e aﬁv&ﬂ?%mmm,fﬂ?{aﬁgmmmaﬁrmo

mmirr%tr 3@mmaﬁv&ﬁ;130mmaﬁmﬁgs,ﬁgAtﬁmﬁrE§3ﬁt

Ans X% 1.100 m, 3caT

#2130 m, 3ca?
« 3 100 m, gf&oT
X 4130 m, gi&or

Question ID : 7518975047
Option 1 ID : 75189720185
Option 2 ID : 75189720186
Option 3 ID : 75189720187
Option 4 ID : 75189720188
Status : Answered
Chosen Option : 3
Q14 fygifesd 1o 3R aiferet di= odlansdi - adian 1, odian 2 3R wan 3 4 fi el -
A, B 3R C GRI UIWl 3! &l g=ifd €1 a1t ud arferest &1 sreag a3, SR U 71U U &
EREEH|
= zafaat - A, B 3w C gamr d=
it F wea Fw
o s
E jg e
_n.: T; 1 T?lol 1?; 3
{"H_Q"-‘-f — Test - qﬁ&m
e 1AM 1 37 URTE 2, a1 @ foTe quifeh 80 T, 2R URiE 3 @ few guries 100 ©,
[T AT giEmail & HaR B SEd gy A -1 C ¥ o iR aifde afe urd e
Ans X 1. 5.56%
<2 6.92%
<3 82%
« 4 7.69%
Question ID : 7518975332
Option 11D : 75189721328
Option 2 ID : 75189721327
Option 3 ID : 75189721325
Option 4 ID : 75189721326
Status : Answered
Chosen Option : 3
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Q.15 A.Band Cstarted a business. They partnered for 6 months. 12 months and 14 months respectively. If their profit is in
the ratio 5 : 4 @ 7 respectively, then the ratio of their respective investments is

Chosen Option :

Ans  p1.5:2:3
<2 2:3:5
K3 2:3:7
X4 1:5:3
Question ID : 7518975604
Option 1 ID : 75189722413
Option 2 ID : 75189722414
Option 3 ID : 75189722416
Option 4 ID : 75189722415
Status : Answered
Chosen Option : 3
Q.16 The Sangai deer is an endemic species found in which of the following Indian states?
Ans X 1. Kerala
« 2. Manipur
X 3. Telangana
X 4. Rajasthan
Question ID : 7518974282
Option 1 ID : 75189717125
Option 2 ID : 75189717126
Option 3 ID : 75189717128
Option 4 ID : 75189717127
Status : Answered
Chosen Option : 2
QA7 36 TEamst T AT 42 T T TS F, T TAT o0 TF TSI 47 FIHI 41 T 74T @11 A
TS FEATHT BT W AT A AT (FAAFT F & TAAT A Ut |
Ans X 1. 43.62
v2 4217
<3 4374
x4 4283
Question ID : 7518976114
Option 1 ID : 75189724456
Option 2 ID : 75189724453
Option 3 ID : 75189724455
Option 4 ID : 75189724454
Status : Not Answered
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Ans
v 1. TS A
X 2. 9rdr AgeATH
X3 FrpIRE TF
X4 oo B
Question ID : 7518974228
Option 1 ID : 75189716909
Option 2 ID : 75189716911
Option 3 ID : 75189716912
Option 4 ID : 75189716910
Status : Answered
Chosen Option : 3
Q.19 G P : .
Express 0.4 24 in the form —, where p and q are integers and q = 0.
q
Ans 14
o 1. —
33
. 41
K2 —
165
_ 13
53—
33
. 41
x4 —
990
Question ID : 7518976026
Option 1 ID : 75189724104
Option 2 ID : 75189724102
Option 3 ID : 75189724103
Option 4 ID : 75189724101
Status : Answered
Chosen Option : 4
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e
Ans X1, 74000

x 2 %7000
v 3 21,881
x 422,000

Q.20 mﬁ#z1,920ﬁmwmmﬁammm,mmiaa‘rﬂjooﬁaaﬁwg%uﬁsm
g & T §1 AG 98 10% e AT F4T e g, o 38 59 a5d # hH T Hpg WA

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975631
75189722521
75189722524
75189722523
75189722522
Not Answered

Statement: Z>R=Y>F=Q=N=<5
Couclusions:

I.P>5

2.2<Q

Ans 1. Neither conclusion 1 nor 2 is true

< 2. Both conclusions 1 and 2 are true

X 3. Only conclusion 1 is true

X 4. Only conclusion 2 is true

Q.21 Based on the given statement, two conclusions are drawn. Find out which conclusion is true based on the statement.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974774
75189719096
75189719095
75189719093
75189719094
Answered

3

Ans 1 R/A
x2 R

v 3 Rf2
x4 2R

Q.22 frdr R oT 9fady R & 2 SUET ST § Fe 19T £ Seie 197 F WA AT e

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975454

75189721814
75189721815
75189721813
75189721816

Answered

1
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Q.23 2021 & Fr% REIE % 3gER, TgwT U5 S FwA (UNDP) gaiT daR Al Rea g, 2020
H 9T # T FiT 37 82

Ans -
711
X2 135
K3 1287
V41319
Question D : 7518974157
Option 1 ID : 75189716628
Option 2 ID : 75189716627
Option 3 ID : 75189716625
Option 4 ID : 75189716626
Status : Answered
Chosen Option : 3
Q.24 study the given diagram carefully. Which option correctly explains the reason for the appearance of the blue black
colour?
b
L]
Ans X 1.
Potato juice contains proteins, which turn blue black with iodine
X 2.
Potato juice contains fats, which turn blue black with iodine
& 3.
Potato juice contains starch, which turns blue black with iodine
X 4.
Potato juice contains glucose, which turns blue black with iodine
Question ID : 7518974528
Option 1 ID : 75189718110
Option 2 ID : 75189718112
Option 3 ID : 75189718111
Option 4 ID : 75189718109
Status : Answered
Chosen Option : 2
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Q.25 fefaw, 9o, @G, BF AT 999 T JeaER A & ING: A F FF H AT g w9 85§ e
AR Ao & G F Fau Tom H 1 T, T F T HY gy T W E T it R & o=
H Faa O & 99 & 9 AW S 9 7 FiF F@ES 2

Chosen Option :

Ans -
X g
< 2. Joleh
P
X4 T
Question ID : 7518975133
Option 1 ID : 75189720532
Option 2 ID : 75189720530
Option 3 ID : 75189720529
Option 4 ID : 75189720531
Status : Answered
Chosen Option : 2
Q26 1f |5 March 2022 was a Tuesday, what day of the week was 15 March 20207
Ans 1 Sunday
X 2. Saturday
X 3. Monday
X 4. Friday
Question ID : 7518976421
Option 1 ID : 75189725684
Option 2 ID : 75189725681
Option 3 ID : 75189725682
Option 4 ID : 75189725683
Status : Answered
Chosen Option : 2
Q.27 Mawsynram is the wettest place on earth and it is situated in
Ans X 1. Rajmahal Hills
+ 2. Khasi Hills
« 3. Mahadeo Hills
# 4. Lushai Hills
Question ID : 7518976489
Option 1 ID : 75189725953
Option 2 ID : 75189725955
Option 3 ID : 75189725956
Option 4 ID : 75189725954
Status : Answered

1
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Q.28 5. T.U, V. Wand X live on six different floors of the same building. The lowermost floor in the building is numbered 1,
the floor above it is mambered 2. and so on 1ill the topmost floor is nmumberad 6.

W lives on the lowermost floor. X and U each live on an even numbered floor. T lives exactly between U and W. W lives
on flaor number 2. Who lives on floor number 52

Ans 21 g
X2 X
X3 U
X4 T
Question ID : 7518974914
Option 1 ID : 75189719656
Option 2 ID : 75189719654
Option 3 ID : 75189719655
Option 4 ID : 75189719653
Status : Answered
Chosen Option : 1
Q.29 e
e e e offs wagw @ weftT 87
Ans w1 grTEY
X2 d§ig
A )
X4
Question ID : 7518974180
Option 1 ID : 75189716719
Option 2 ID : 75189716718
Option 3 ID : 75189716720
Option 4 ID : 75189716717
Status : Answered
Chosen Option : 3
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(12,15, 1§)
(435, 35, 23)

Ans 1. (14, 28, 14)
X2 (19,18, 1)
X3 (13,10,17)
o 4 (15,20, 25)

Q.30 Select the set in which the numbers are related in the same way as are the numbers of the following sets.

(NOTE : Operations should be performed on the whole numbers. without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding /deleting ‘nmltiplying ete. to 13 can be performed.
Breaking down 13 into | and 3 and then performing mathematical operations on 1 and 3 is not allowsd)

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 7518975087
Option 11D :

75189720345

: 75189720348
: 75189720346
: 75189720347
: Answered

Chosen Option :

4

Q.31

Ans X11:4
v21:1
x31:2
Ka 211

(sin® 22° + sin” 68°) 3R (cos® 33° + cos’ 57°) & HgT A HIaT|

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976213
75189724849
75189724850
75189724852
75189724851
Answered

2
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Q.32 o gE 4U F 3UR W IS T WA F el ATl

51263865365325695172
ERniC

Aol & Udr fhaer gEU] §, BEd ¥ gele & S Ugel U §H EET 3T 8k e o v

T g 27
Ans x 1. 4
X2 3
32
X4 5
Question ID : 7518975002
Option 1 ID : 75189720008
Option 2 ID : 75189720006
Option 3 ID : 75189720005
Option 4 ID : 75189720007
Status : Answered
Chosen Option : 3
Q.33 FgeT & 9T G & g AT B T B deE X A & T & B & wEe aer 87
Ans o 1.
e oot garT T2 IaT Mot F o Mot F Rufea G s
X 2. Teg 9 X7 &7 ATEIH YeId fohar ST
< 3.
. . c g
e T8 ToEAT a0 TR & 9 H HEIdT e
x4+ e W TIRT HET AR TSl fhar =T
Question ID : 7518974580
Option 1 ID : 75189718318
Option 2 ID : 75189718317
Option 3 ID : 75189718319
Option 4 ID : 75189718320
Status : Answered
Chosen Option : 3
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Q34 The potential drop across the 4 () resistor in the given circui

4 ohm & ohm

——AM—AN———

tis:

av
Ans
s 12V
X225V
X3 3V
K405V
Question ID : 7518975475
Option 1 ID : 75189721897
Option 2 ID : 75189721899
Option 3 ID : 75189721898
Option 4 ID : 75189721900
Status : Answered
Chosen Option : 1
Q.35 P Q.R, S, T, UandV live on seven different floors of the same building. The lowermost floor in the building is
mumbered 1, the floor above it is number 2, and so on till the topmost floor is numbered 7. Q lives on floor mumber 2. R
lives on the floor immediately above T's floor. § is on the floor immediately below Vs floor. Only three persons live
berwaen the floors of T and P. R lives on the topmost floor. Only one person lives between the floors of R and P. On
which floor does P live?
Ans X 1. Floor 2
< 2. Floor 4
« 3. Floor 5
# 4. Floor 3
Question ID : 7518975154
Option 1 ID : 75189720613
Option 2 ID : 75189720615
Option 3 ID : 75189720616
Option 4 ID : 75189720614
Status : Answered
Chosen Option : 3
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Whe is sitting to the immediate right of R7

Q.36 Seven friends, P, Q, R, 8, T, U and V, are sitting around a circular table. All are facing the centre of the table. Only R is
sitting between Q) and 5. Only T is sitting between P and V. V is sitting third to the right of Q. V is third 1o the left of T7.

Ans X1 P
X2 T
W3 5
K4V
Question ID : 7518975132
Option 1 ID : 75189720525
Option 2 ID : 75189720527
Option 3 ID : 75189720526
Option 4 ID : 75189720528
Status : Answered
Chosen Option : 1
Q37 o e F1 CaETES Feuws Hifew, AT 3ES 3R W 9 T 9o F 3w e
@) 3" %724£3Y¥47@88&6@ 1 (30
IS HGEA H W e wee ¥, Oed ¥ 93w ¥ 3% 9 oF WO §, A S o o v
ECicad
Ans o 1. 3
X2 2
X3 4
X4 1
Question ID : 7518975008
Option 1 ID : 75189720031
Option 2 ID : 75189720030
Option 3 ID : 75189720032
Option 4 ID : 75189720029
Status : Answered
Chosen Option : 3
Q.38 vs TrEATES #F T 802 T55 §| 5 & M F Al T ¥ TTEF F @Y #97 H, g A Hgeer
# 52 55 FF §1 TEF & gL o F R s 32
Ans ¢ g 464
« 2420
<3 472
x4 482
Question ID : 7518976328
Option 1 ID : 75189725312
Option 2 ID : 75189725309
Option 3 ID : 75189725310
Option 4 ID : 75189725311
Status : Answered

Chosen Option : 2
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Ans

Q.39 Tr=ira B #, 3T e = FFiE /a1 &, Io7 F=far & FEie 3= &, 3= For

T & TR S & AR el g w1 FEle war 1 Bfees aet 7 & 0w wea, 38 anr
¥ et sfeat 1 gEw @ g E| e seh-Remfiet & wen g o owms SR g, A
Torgg 7 S FET A §; T O fraer et € S ges # e o € fRg ¥ wsfear w6 € e

SealeT Fel TR F WS g7

v 1. 211 3T 178, FH:
X2 479 3T 211, FA:

X3 138 3T 479, FH:
X 4138 3T 178, HH:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974757
75189719026
75189719027
75189719028
75189719025
Answered

1

Ans

FET?

UCK-4, WFO-9, YIS-19, ALW-39, ?

x 1. CPB-79
< 2. BOA-76
X 3. COA-77
« 4 COA-79

Q40 37 5z =1 IO HET, A & T Yuen F g FES (7) F TR W HF YT B ATHF & F 907

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975215
75189720859
75189720860
75189720857
75189720858
Answered

4
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T F Sy H# gre & Suy I # e F= gem?

Q.41 ofy Fwar 34135278 & Sodies 3w 31 & 2 SisT =am 2, 33T v §9 3% ¥ 1 "erm = B, &

Ans x 1. 7
> 21
X33
4 4
Question ID : 7518975098
Option 1 ID : 75189720390
Option 2 ID : 75189720392
Option 3 ID : 75189720389
Option 4 ID : 75189720391
Status : Answered
Chosen Option : 4
Q42 3 oo g2 T I F FANAOT A &, A AT 309E F 7 H |
A K. R HE
X2 ufffes e
v 3 FHierad edeanss
x4 ar g BT I
3 .y
Question ID : 7518973473
Option 1 ID : 75189713891
Option 2 ID : 75189713890
Option 3 ID : 75189713892
Option 4 ID : 75189713889
Status : Answered
Chosen Option : 3
Q43 g7 HEs T=RYT % T gE @ § § vE g RERe § ¥ #i9 g0 aweT # JeS F
FEEE § Fohal 87
Ans
. FAREE
v S[ars
K2 el =T
x 3. foams & ufear ais
x4 w1 @ar
Question ID : 7518974664
Option 1 ID : 75189718653
Option 2 ID : 75189718654
Option 3 ID : 75189718656
Option 4 ID : 75189718655
Status : Answered

Chosen Option : 3
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Q44 Which of the following is divisible by both 4 and 8?
Ans X' 1. 4382

X 2. 8342

3 3824

X 4. 3842

Question ID : 7518975811
Option 1 ID : 75189723243
Option 2 ID : 75189723241
Option 3 ID : 75189723244
Option 4 ID : 75189723242
Status : Answered
Chosen Option : 3

Q45 0, P, QR S T3 U T B4 & B v & R o @ o &, g 3o =6 w0 & @
AT W I R ¥R P & 9w Fao7 v Bewr @@ 7 21 S 3R T & 99 a9 T e @
P 3T Q & 91 *ad v fEear T AT &1 Q F HEW A @ I g1 T W Q F S I & 9
gisiav s du Faa e @ ow &2

Ans 1 T
X2 g
ws.gﬂ-
X4 =T

Question ID : 7518974920
Option 1 ID : 75189719677
Option 2 ID : 75189719679
Option 3 ID : 75189719678
Option 4 ID : 75189719680
Status : Answered
Chosen Option : 1
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Q.46

frafatad d 9 foog oy § yRdia Susrad #fafaag aifea far mar ar

Ans
< 1.
711909
x 2.
X2 1915
< 3.
X3 1921
4.
Y4 1910
Question ID : 7518973799
Option 11D : 75189715195
Option 2 ID : 75189715196
Option 3 ID : 75189715194
Option 4 ID : 75189715193
Status : Answered
Chosen Option : 3
Q.47 Inthis question. a statement is followed by two conclusions. Which of the rwo conelusions [s/are true with respect to the
statement?
Statement: H>Y25=X=A>W
Conelusions:
LH<S§
ILA<Y
Ans X 1. Only conclusion I is true
# 2. Both conclusions I and IT are true
X 3. Neither conclusion I nor II is true
« 4. Only conclusion II is true
Question ID : 7518974953
Option 11D : 75189719809
Option 2 ID : 75189719811
Option 3 ID : 75189719812
Option 4 ID : 75189719810
Status : Answered
Chosen Option : 4
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Ans

Q48 £124.8 X 625.5 % 0.0043 is equal in value to:

1. 61.248 X 6255 X 0.043
<2 6.1248 X 62.55%x 0.43
X3 61248 x625.5x 0.43
X4 6.1248 X 62.55x 0.043

Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status

Chosen Option :

: 7518976231

: 75189724923
: 75189724921
: 75189724922
: 75189724924
: Answered

1

Q.49

Ans

Which of the following numbers will replace the question mark (?) in the given series?

11,21, 47,97, 1792
X 1. 295
<2 281
« 3. 301
x4 231

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975290
75189721159
75189721158
75189721160
75189721157
Not Answered

Ans

v 1. Teifeam
X2 Zaer AT
X 3. FFRETS
X4 Aol

Q.50 =i § & Bw g9 & 3o 9w ¥ B & 38T (TP Ouseph) &1 2021 & gomemd
REFRR & TEA=E fohar a14r?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976500
75189726000
75189725999
75189725997
75189725998
Answered

1
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Q.51 Reena reaches a birthday party 20 min late if she walks 3 kovh from her house. If she increases her speed to 4 kou'h she

waould reach 30 min early, then the distance between her house and the vemue of the birthday party is

Ans X 1. 9 km
X 2. 7km
« 3 10 km
<4 4km
Question ID : 7518975649
Option 1 ID : 75189722595
Option 2 ID : 75189722594
Option 3 ID : 75189722596
Option 4 ID : 75189722593
Status : Answered
Chosen Option : 3
Q52 1f the volume of a sphere is 36w cm?, then the diameter of the sphere is:
Ans X1 3cm
X2 Ocm
X3 27cm
W 4. 6 cm
Question ID : 7518975968
Option 1 ID : 75189723869
Option 2 ID : 75189723871
Option 3 ID : 75189723872
Option 4 ID : 75189723870
Status : Answered
Chosen Option : 1
Q.53 : . : : : :
In January 2022, GAIL started India’s maiden project of blending hydrogen into natural gas system at which place?
Ans
A1 Bhopal
X 2. Gwalior
%3 Ujjain
¥ 4 Indore
Question ID : 7518973765
Option 1 ID : 75189715057
Option 2 ID : 75189715059
Option 3 ID : 75189715060
Option 4 ID : 75189715058
Status : Answered
Chosen Option : 1
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Ane X1 g, um
v o 9, TR &

Xs.éﬁﬁ'&'&%ﬁ, EE
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#r et B T w1 2

< 4. ST, aﬁ;r
Question ID : 7518975524
Option 1 ID : 75189722095
Option 2 ID : 75189722093
Option 3 ID : 75189722094
Option 4 ID : 75189722096
Status : Answered
Chosen Option : 2
Q.55 Inacertain code language, FUEL' is written as 50" and *JEER' is written as ‘44", How will FARE' be written in that
language?
Ans X 1 A0
<2 38
<3 34
« 4 36
Question ID : 7518975026
Option 1 ID : 75189720101
Option 2 ID : 75189720103
Option 3 ID : 75189720102
Option 4 ID : 75189720104
Status : Answered
Chosen Option : 2
Q.56 = Fr ¥ @Y, T FEEET Ent F sReefe wa € At e s o A st
& IS 3 1 4§, & gF0 e @ gaw WA AdEsE @ A A S
Ans x 1. -| 1
x24:3
#33:4
K424
Question ID : 7518975764
Option 1 ID : 75189723056
Option 2 ID : 75189723053
Option 3 ID : 75189723055
Option 4 ID : 75189723054
Status : Answered
Chosen Option : 2
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124,129, 136, 145, 156, 7

Q.57 Which of the following numbers will replace the question mark (?) in the given series?

Ans X' 1. 168
X2 165
X3 172
W 4169
Question ID : 7518975063
Option 1 ID : 75189720251
Option 2 ID : 75189720249
Option 3 ID : 75189720252
Option 4 ID : 75189720250
Status : Answered
Chosen Option : 4
.58 . .
@38 Simplify (32)3 + (23)2.
Ans X' 1. 379
« 2. 703
X3 720
<4 739
Question ID : 7518975795
Option 1 ID : 75189723178
Option 2 ID : 75189723180
Option 3 ID : 75189723177
Option 4 ID : 75189723179
Status : Answered
Chosen Option : 2
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(i) AcaT F weowoT #r e T
(i) et & fafee= 39
(iii) Feat % Rffe o

09 T FRE F FEF F It F FeEIoT Hr M ET A

Ans X e i
X2 Fae i
& 300, i, il
X4 FHIeT i
Question ID : 7518973693
Option 1 1D : 75189714771
Option 2 ID : 75189714770
Option 3 ID : 75189714772
Option 4 ID : 75189714769
Status : Answered
Chosen Option : 3
Q.60 g ofr wEfEam, St 3o 38T 3o weaT &, 3 FeT ST TR g
A X ferame sifarfee
X2 yErerm wiHTEaT
X 3. ques HfAfEaT
¢ 4 3gagur JEAfRar
Question ID : 7518973594
Option 1 1D : 75189714374
Option 2 ID : 75189714376
Option 3 ID : 75189714375
Option 4 ID : 75189714373
Status : Answered
Chosen Option : 3
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Q.61

5 men and 6 women can do a piece of work in 6 days while 3 men and 5 women can do the same work in 9 days. In

how many days can 3 men and 2 women do the same work?

Ans [
« 1. 11 — days
11
3
X 2. 13— days
11
9
X 3. 10— days
11
1
X 4. 12— days
11
Question ID : 7518976297
Option 1 ID : 75189725186
Option 2 ID : 75189725188
Option 3 ID : 75189725185
Option 4 ID : 75189725187
Status : Answered
Chosen Option : 2
Q.62
In May 2022, which of the following state Chief Minister Basavara] Bommal has launched a new health and wellness
scheme app AAYU?
Ans
X 1. Kerala
« 2. Karnataka
%3 Andhra Pradesh
A 4 Tamil Nadu
Question ID : 7518973778
Option 1 ID : 75189715109
Option 2 ID : 75189715112
Option 3 ID : 75189715111
Option 4 ID : 75189715110
Status : Answered
Chosen Option : 3
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Ans

# 1. Delhi

X 2. Ajmer

« 3. Mumbai
X 4. Hyderabad

Q.63 The famous Haji Ali Dargah is located in which of the following cities?

Question ID :
: 75189716814
: 75189716813
: 75189716816
: 75189716815

Status :
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

7518974204

Answered
2

Ans

OOV s st e T e e e e EE e E T

AROAR] &3 &l 5 67

v ghamm
SERCEIC

X oA uew

X4 ISR

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

7518973858
75189715430
75189715431
75189715432
75189715429
Answered

4
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Q.65 s Fw W =R EET-aEnT fig 5@ SRR &, % #F of I Rig W FE §) 59 g d@iE 5T we

T foea o] Y@na (distinct straight lines) i @& F1a Hifaw

Ans x 1. 8
X2 4
X3 2
V4 B
Question ID : 7518976195
Option 1 ID : 75189724778
Option 2 ID : 75189724777
Option 3 ID : 75189724780
Option 4 ID : 75189724779
Status : Answered
Chosen Option : 4
Q.66 The I CM of 48, 72 and anothar number, % is 576 Which of the values given below can be the value of x7
Ans X' 1. 288
o 2192
X3 144
X4 06
Question ID : 7518975823
Option 1 ID : 75189723292
Option 2 ID : 75189723290
Option 3 ID : 75189723291
Option 4 ID : 75189723289
Status : Answered
Chosen Option : 4
Q.67 Select the correct combination of mathemarical signs that can sequentially replace * to balance the following equation.
20 » 4 = 6 = 2 = 14 =+ 18
Al - —
ns x1' .’X’_,+,+
xz +'! =’+! X!+
<3 +9 x>_7:: =
o 4. +’ ><,+,=,—
Question ID : 7518975105
Option 1 ID : 75189720417
Option 2 ID : 75189720418
Option 3 ID : 75189720419
Option 4 ID : 75189720420
Status : Answered
Chosen Option : 4
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B.

Ans - % 1. 12 years

Q.68 Aistwice asold as B. B is 1/3 as old as C. The sum of ages of A, B and C is 42 vears, find the sum of the ages of A and

Chosen Option :

X 2. 15 years
« 3. 21 years
X 4 23 years
Question ID : 7518975724
Option 1 ID : 75189722896
Option 2 ID : 75189722893
Option 3 ID : 75189722894
Option 4 ID : 75189722895
Status : Answered
Chosen Option : 3
Q.69 Which part of the Indian Constitution has only one Article 51-A, which deals with the Code of 11 Fundamental Duties
for the Citizens?
Ans X 1. Part IXA
X 2. Part VII
« 3. Part IV-A
X4 PartV
Question ID : 7518974094
Option 1 ID : 75189716375
Option 2 ID : 75189716376
Option 3 ID : 75189716373
Option 4 ID : 75189716374
Status : Not Answered

Q.70

Ans
X115
X2 1/4
3 1/3
X4 1/

What fraction of the positions in all panchayat institutions is reserved for women?

Question ID
Option 1 ID
Option 21D :
Option 3 ID
Option 4 ID
Status :

Chosen Option

: 7518973941
1 75189715764

75189715763

: 75189715762
: 75189715761

Answered

03
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Q.71

At simple interest, a certain sum of money amounts to 1,250 in 2 vears and to 2,000 in 5 years. Find the
interest per annum (rounded off to two places of decimal).

rate of

Ans X' 1. 11.11%
¥ 2 33.33%
K3 16.67%
X4 27.27%
Question ID : 7518976068
Option 1 ID : 75189724269
Option 2 ID : 75189724272
Option 3 ID : 75189724270
Option 4 ID : 75189724271
Status : Answered
Chosen Option : 1
Q72 Which of the following is the most beneficial for a customer?
Scheme 1.) Buy 5 get 3 free
Scheme 2.) Buy 5 get 6
Scheme 3.) Two successive discounts of 10% and 5%
Ans X 1. Scheme 1 and 2 both
« 2. Scheme 1
# 3. Scheme 2
X 4. Scheme 2 and 3 both
Question ID : 7518975644
Option 1 ID : 75189722574
Option 2 ID : 75189722573
Option 3 ID : 75189722575
Option 4 ID : 75189722576
Status : Answered
Chosen Option : 4
Q.73 sandhya Gurung received the Dronacharya Award, 2021, for coaching in the field of
Ans X 1. Swimming
X 2. Kabaddi
+ 3. Boxing
X 4. Shooting
Question ID : 7518974123
Option 1 ID : 75189716492
Option 2 ID : 75189716489
Option 3 ID : 75189716490
Option 4 ID : 75189716491
Status : Answered

Chosen Option : 4
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Q74 SooffET F O S ar s ot F Sy e F§ w2

Ans :
vy
X2 FE
X 3. 8T PITRAHIT
X 4. AT ool
Question ID : 7518974535
Option 11D : 75189718139
Option 2 ID : 75189718138
Option 3 ID : 75189718140
Option 4 ID : 75189718137
Status : Answered
Chosen Option : 3
Q.75 14 years ago. the age of a father was three times the age of his son. Now, the father is twice as old as his son. What is
the sum of the present ages of the father and the son?
Ans X 1. 42 years
X 2. 56 years
X 3. 98 years
o 4. 84 years
Question ID : 7518976338
Option 1 ID : 75189725352
Option 2 ID : 75189725349
Option 3 ID : 75189725351
Option 4 ID : 75189725350
Status : Answered
Chosen Option : 1
.7 & & =
Q.76 FEA F FolFglierh Gedrd H A Bl H o T e g2
e X1 A
<2 =Y
o 3. Efl'
X4 Teh
Question ID : 7518973379
Option 1 ID : 75189713515
Option 2 ID : 75189713516
Option 3 ID : 75189713514
Option 4 ID : 75189713513
Status : Answered
Chosen Option : 3
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persons.

-

How many such accountants are there who are also bilinguals?

Q.77 Study the given diagram carefully and answer the question. The mmbers in different sections indicate the number of

Ans X' 1. 15
&2 24
X309
X4 22
Question ID : 7518975183
Option 1 ID : 75189720730
Option 2 ID : 75189720731
Option 3 ID : 75189720729
Option 4 ID : 75189720732
Status : Answered
Chosen Option : 2
Q.78 =i & 77 5 fwor F wfaw & 7% O ol = v aeEe Bew J ¥ B Reew F R
b
Ans .
v 1. T geH, TATcHS ToaRiNT, HehET
X 2. [FgeH, shu=, TuATcHS T HTATOT
X 3. TGATCHS IeT: HIMTUT, e, fAswaa
X 4. TGeIcHS Iel: HEMNTOT, fevshrae, e
Question ID : 7518974601
Option 1 ID : 75189718403
Option 2 ID : 75189718401
Option 3 ID : 75189718402
Option 4 ID : 75189718404
Status : Answered
Chosen Option : 4
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Q79 What is the nature of the roots of 3x2 +6x—5 =07

Ans 2 1. The roots are real and distinct.

X 2. The roots are real and equal.

# 3. The roots are real and more than 2.
< 4. There are no real roots.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518975954
75189723814
75189723813
75189723815
75189723816
Answered

3

Ans < 1. Rs>Ri>R;

« 2 Ra<Ri<R;
~ 3. Ri<Bz<R;s

X 4. Ri>R.>Rs

Q.80 TheLv graph of three resistances Ry Ry and Rs is shown in the figure below. The correct relation between Ry R; and Rais:

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

: 7518975459
: 75189721836
Option 2 ID :

75189721835

175189721834
: 75189721833
: Not Answered
Chosen Option :
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Ans

Statement-I: Anhydrons sodinm carbonate is nsed in soda-acid fire extinguishers.

Statement-IL Anhydrous sodium carbonate is dissolved in water and recrystallized to get washing soda crystals

containing 10 molecules of water of crystallisation

# 1. Both the statements are true.

« 2. Statement-II is true, and Statement-I is false.
« 3. Both the statements are false.

X 4. Statement-I is frue, and Statement-II is false.

.81 . .
28! The expansion of (3a— 4b — 2¢)? is:
Ans X 1. 9a% + 16b® + 4c? — 24ab + 8bc + 12ac
#2937 + 16b? + 4c? — 24ab + 16bc— 6ac
#3932 +16b? + 4c? + 12ab— 8bc + 6ac
4 093% 4+ 16b* + 4c¢? — 24ab+ 16bc— 12ac
Question ID : 7518976316
Option 1 ID : 75189725262
Option 2 ID : 75189725261
Option 3 ID : 75189725264
Option 4 ID : 75189725263
Status : Answered
Chosen Option : 4
Q.82 Consider the below statements and identify the correct answer.

Question ID
Option 11D
Option 2 ID
Option 3 ID

Status

: 7518973669

: 75189714673
: 75189714676
1 75189714674
Option 4 ID :

75189714675

: Not Answered
Chosen Option :
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Q.83 Select the set in which the numbers are related in the same way as are the mimbers of the following sers.

(NOTE : Operations should be performed on the whole numbers, without breaking down the numbers info its
constiment digitz. E.g. 13 — Operations on 13 such as adding ‘subtracting /multiplving ete. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)

(35.12,29)

(23, 16.51)
Ans 1. (18, 12,21)
v 2 (19,8, 23)
X3 (21,25,29)
X 4. (33,30,27)

Question ID : 7518974865
Option 1 ID : 75189719457
Option 2 ID : 75189719459
Option 3 ID : 75189719460
Option 4 ID : 75189719458
Status : Not Answered
Chosen Option : --

Q84 1 context of Consumer Rights, what is the full form of COPRA?

Ans X' 1. Consumer Protection Association
« 2. Consumer Protection Act

X 3. Consumer Protection Agency

& 4. Consumer Protection Alliance

Question ID : 7518974217
Option 1 ID : 75189716867
Option 2 ID : 75189716865
Option 3 ID : 75189716866
Option 4 ID : 75189716868
Status : Answered
Chosen Option : 2

Q85 Find the median of the data 11, 16, 33, 15, 51, 18, 71, 75,22, 17.
Ans X' 1. 18
X2 24
3 20
X4 22

Question ID : 7518975901
Option 1 ID : 75189723601
Option 2 ID : 75189723604
Option 3 ID : 75189723603
Option 4 ID : 75189723602
Status : Not Answered
Chosen Option : --
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Q.86 During adolescence, several changes occur in the luman body. Which of the following changes is associated with
sexual maturation only in girls?

Ans

« 1. Growth of mammary glands
X 2. Growth of hair on different parts of the body

& 3. Conscious of their looks

X 4. Oily skin with pimples

GET IT ON
Google Play

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518974612
75189718448
75189718445
75189718446
75189718447
Not Answered

Ans

ol
Am
/N

# 1. BC and CD
+ 2. AB and CD
X 3. AB and BC
#< 4. CDand AB

Q.87 In the figurs shown below, the incident ray and the emergent ray in the respective order are given by:

Question ID :
: 75189721702
: 75189721703
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID
Option 2 ID

7518975426

75189721701
75189721704
Not Answered

Ans

COWBOY : WOCYOB
TANGLE : NATELG

« 1. FLOWER : OLFREW
X 2. CROWDS : ORDWSC
X 3. MANGLE : NMALEG
# 4. PICKLE : CIPLKE

Q.88 In the given letter-cluster pairs, the first letter-cluster is related to the second letter-cluster following a certain logic.
Study the given pairs carefully, and from the given options, select the pair that follows the same logic,

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

7518975277
75189721108
75189721106
75189721107
75189721105
Answered

Chosen Option : 1
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Ans

Q.89 The following chart shows the numbers of insurance policies sold by five salespersons named P. Q. R. § and T. Smudy

the chart and answer the question.

12 |

w0 ! . i i B

80 F

40t

20 §

o} : : : i

P R | s T

me | 120

1 ! a
|@5eriess| 122 e

Number of Insurance Policies
@
a

Whar is the percentage share of insurance policies sold by Q in the total insurance policies sold by all five salespersons?

o 1. 25%
X2 28%
<3 30%
X 4. 20%

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

7518975337
75189721346
75189721348
75189721347
75189721345
Not Answered

Ans

Q.90 Tn this question, a group of numbers/symbols is coded using letters as per the table given below and the conditions

which follow. The eorrect combination of codes following the conditions is your answer.

[Mumber/symbol [ 8 [ 5 [ 3 [ # [ 6 [ & | 7] @[u][a]2]
| code [l k[ 1wl el elo]lslale][r]
Conditions:

(i) If the first two elements are numbers and the last is a symbol, then interchange the codes for the second number and
the last symbol.

(ii) If the second element is a symbol and the last is a symbol, then all the symbols are fo be coded as C.

(iti) If the question has any number which is immediately preceded by a prime number, then interchange the codes of
the first and last number appearing in the question.

estion: 79 & § % #3
Qu

X 1. DLGPSIT
« 2. JLFPAHD
X 3. DL&P%#]
X 4. SLFPAHI
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

7518974832
75189719328
75189719325
75189719327
75189719326
Not Answered
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completely filled.

Q.91 Find the amount of water contained in a cylindrical tank of radivs 7 m and height 20 m. It is known that the tank is

Ans X1 4250 w3
X2 3125 m°
X3 5110 m°
¥ 4 3080 m°
Question ID : 7518975755
Option 1 1D : 75189723019
Option 2 ID : 75189723018
Option 3 ID : 75189723020
Option 4 ID : 75189723017
Status : Answered
Chosen Option : 4
Q92" The presence of which bacteria is an indicator of water pollution?
Ans X 1. Mycobacterium tuberculosis
+ 2. E. coli Coliform
X 3. Salmonella typhi
X 4. Vibrio cholerae
Question ID : 7518974510
Option 11D : 75189718038
Option 2 ID : 75189718037
Option 3 ID : 75189718040
Option 4 ID : 75189718039
Status : Answered
Chosen Option : 1
Q93 WWhich of the following is NOT an example of asexual reproduction?
Ans 1. Grafting
X 2. Fragmentation
X 3. Binary Fission
X 4. Budding
Question ID : 7518974456
Option 11D : 75189717824
Option 2 ID : 75189717823
Option 3 ID : 75189717822
Option 4 ID : 75189717821
Status : Answered

Chosen Option : 1
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Q.94 Which of the following elements has the maximum number of atoms in their molecular form?

Chosen Option :

Ans X' 1. P
X 2. Ne
3. 5
X4 Ar
Question ID : 7518973495
Option 1 ID : 75189713980
Option 2 ID : 75189713979
Option 3 ID : 75189713977
Option 4 ID : 75189713978
Status : Answered
Chosen Option : 2
Q.95 2 .
The product of the roots of 3x° — 13x+6 =0 is:
Ans X' 1. 3
~<2 4
3 2
K45
Question ID : 7518975958
Option 1 ID : 75189723832
Option 2 ID : 75189723829
Option 3 ID : 75189723831
Option 4 ID : 75189723830
Status : Not Answered
Chosen Option : --
Q.96 The distance between the focus and the centre of curvature of a spherical mirror in terms of the radius of curvature R, is
equal to:
Ans X 1. ZH
v 2 Rf2
x 3 R/4
x4 R
Question ID : 7518975361
Option 1 ID : 75189721443
Option 2 ID : 75189721442
Option 3 ID : 75189721444
Option 4 ID : 75189721441
Status : Answered

1
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Q.97 Bharat Heavy Electricals Limited was registered as Heavy Elsctricals (India) Limited (HE(I)L) in the Public Sector

under the Ministry of Industry and Commerce on 29th August,

Ans X 1. 1969
« 2. 1956
X3 1952
X 41962
Question ID : 7518974063
Option 1 ID : 75189716252
Option 2 ID : 75189716250
Option 3 ID : 75189716249
Option 4 ID : 75189716251
Status : Answered
Chosen Option : 2
Q98 Which of the following rivers originates from Amarkantak Hills?
Ans X 1. Sutlej
X 2. Godavari
+ 3. Narmada
X 4. Teesta
Question ID : 7518974274
Option 1 ID : 75189717093
Option 2 ID : 75189717094
Option 3 ID : 75189717096
Option 4 ID : 75189717095
Status : Answered
Chosen Option : 2
Q.99 Suneet walked 10 m towards the north, then he turmned left and walked 11 m, then from there he turned right and walked
13 m, and then he trned right again and walked 25 m. In which direction is Supeet facing now?
(All tarns are 90 degree turns only)
Ans 1. East
&< 2. West
« 3. South
X 4. North
Question ID : 7518974836
Option 1 ID : 75189719341
Option 2 ID : 75189719342
Option 3 ID : 75189719344
Option 4 ID : 75189719343
Status : Answered
Chosen Option : 1
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Ans

Q.100 e Fua 3k 50 &g a1 % | #R 1l RGw 7w #| Fua H T w7 oerEEs sewas A, st R

T FFent § ¥ 3R 3oaw = A Fem
FUA:

FrEE IR ¥ g FEY AN A F F e A S A Bt |l s sy @ G
o &1

o
. TR o Tl T Ao & o ofer sy AR gE wEr S 3 e sward R #

Il. F= JUEFRT H A & & T, @ el F g Ft A e Fy ¥ R st
FEE ITIY FAT AT F

x 1.
% | FUF FT GAYT T8 FT §, FEF I || FUT FT GAYT FT &

X2 g | 3T 1, S FUT # GAIT A6 FA &
3 gk | AT 1, AT FUT F FAYT FI &

x 4.
% || FUT FT TGHIT AT FGT &, Tl G | FUF F GHAIA FAT &

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976397
75189725585
75189725587
75189725588
75189725586
Answered

3
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